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ik [ RRIREER ] krrrrk

HES BRES B E F K & N—rF—% B B @ W T F
18 13003858 A HEZY HA By FF B OE ZFEefr 50 40 55
19 13003430 A #E BAIT HE BEEF B O# 2F&

2 1 13003402 B /Mzil 1848 fEZE =E8K B O 1FE
2 3 13003120 A ZEH & E¥ HEF B O F1fr 1.0 1.0 1.0
2 6 13000768 A =t & EffA B&BF R & 2 %R
28 13003843 C &EH & NG BF B & %34 60 20 20
29 13000142 A &P ZEF #H LWIH B OB BRTE
30 19100186 N EM = BHE EBER BRPE
31 13003109 A & EIE HH REF B OB BPE
32 13003609 A fafE FE—ER Him EF B OH 2 %R
33 13001101 B /MAR & #0O #&F BOE F24z 2.0 3.0 3.0
34 13002497 A BHE 1= HE 2AF BOE F4f4z 3.0 5.0 55
35 13001205 A /MR fEX g &R R OB PR
36 13003738 A FHHER EAH # BT R & RPE
37 13003138 A ER = PR BT B O 17
38 13002756 C HE 5 AR EF R OB ERE
39 13001134 A ZFE HHH RE BhF R OB &P
4 0 13003739 A fRE [L— B SF B OE FES54 40 6.0 40
41 13007002 B %A & NG HRE R & 158
4 2 13001157 A ZHi S— Pl EF R B X _i5
4 3 13000657 A B FE | BAF B O# 2FE
4 4 13002621 B ES &=1T ERRK BF R OE BTE
45 13003210 A I #B{xX 2n XHE B OH 2 PR
4 6 13002516 A AH = i BEF R OE BTE
47 13003752 B #E f#— INE B F R & 1%
4 8 13000667 A XFE XE AR A% B O FE74 7.0 7.0 7.0
49 13003764 B =i FO&E A# K B OE 2F%#
50 13000310 A HK F— Bk HEF R OB ERE
51 13003118 B g BX STE OGEEF R O 1PE
52 13001015 A fOEE B nEE EF R OB &P
53 13000393 A ipE B3 g FK R OED R
54 13001045 B ZgHh ) FL BT RO 8BTE
55 13000397 A fEIL EBE PR T R OB ERE
56 13103476 D A KE AE KF R OE 8BTE
57 13002897 A #E £ mE BT OB 2%
58 13001200 B U BF#K Fr ER L 2 FE
59 13002654 A RIF Xk =H #HF H OB X 5
60 13003855 C EH B BES EHIE B OB ERE
6 1 13003597 A JIIX 3= Nnx =¥ B OB BFE
6 2 13000099 B fEH & AE ER L R 5
6 3 13000010 A BT HiA& BT mKF R & 2F&
6 4 13003799 B KiR FHZE EH 2F R & 2FE
spprrrk [ 1 FE ] ek

No. 4 5 8 9 12 &% #FE

WTF WTF WTF WTF WTF N 432
18 ok ok kokk kokk kkk 15 1 P
19 sokk ko kkk kkk kk 14 17 P
21 * % * kkk 6 38
23 ok ook kokk kokk kkk 15 1 P
26 kkk kk ok ok kkk kkk 13 28 P
28 )k kkk kkk kkk ok x 14 17 P
29 skkk kdok kkk kk kkk 14 17 P
30 s,k kdok kk kkk kkk 14 17 P
31 ok ok kokk kokk kkk 15 1 P
32 s,k kkk ok kekk kkk 13 28 P
33 sk ok tokk kkk kkk 15 1 P
34 shok ok fokk kokk kkk 15 1 P
35 sk fkk dokk kkk kkk 15 1 P
36 )k kkk kkk kkk  kk 14 17 P
37 *¥* 2 39
38 sk fkk kokk kokk kkk 15 1 P
39 )k kkk kkk kkk kk 14 17 P
40 kdok kk kokk ok ok kkk 14 17 P
41 % % dkx  kk x k9 35
43 ok kk kekk kk kkk 14 17 P
44 kkok kk tokk kokk kkk 15 1 P



45 s,dok ok kokk kkk kk 14 17 P
46 sk kkk dokk kkk kkk 15 1 P
47 *k ok okk ok Kk 8 37

48 sdok ok kokk kokk kkk 15 1 P
49 s,k fkk tokk kokk kkk 15 1 P
50 sk ok tokk kokk kkk 150 1 P
51 ¥ kokox oxkk ok k9 35

52 sk kkk tokk kokk kkk 15 1 P
53 ok ok kokk kokk kkk 15 1 P
54 kk  okkk ok kekk kkk 12 31 P
55 kdok  ckk kokk kokk kkk 14 17 P
56 ok ok kokk kokk kkk 15 1 P
57 s,k ok kkk ok ok kk 11 32 P
58 sdok ok kokk kk kk 13 28 P
60 sk kkk dokk kkk k k14 17 P
61 sk ok tokk kkk kkk 15 1 P
63 kdok kk dokk ok ok 10 33 P
64 * kk  kk odkk kk 10 33 P

s = 10

spprrrk [ 2P ] dkkrek

No. 4 5 8 9 12 &F HIFE
WTF WTF WTF WTF WTF N 432
18 ok ok kokk kokk kkk 15 1 P
19 sk fokok *x 6 27
23 s,hok ok kokk kokk kkk 15 1 P
26 HHk * * 5 31
28 s,k ok kokk kk kkk 14 5 P
29 %k k ox okkk kkk 10 20 P
30 *k ok ok okk kokok 10 20 P
31 sk kkk kokk kk kkk 14 5 P
32 * % * x x x 6 27
33 sk kkk dokk kk kkk 14 5 P
34 sk ok kokk kokk kkk 15 1 P
35 *hk ok ok kk kk kkk 12 14 P
36 % okkk kekk okokk kkk 13 13 P
38 *kok kk * kkk xkk 12 14 P
39 *k ok ckkk kkk k11 18 P
40 *dok ok dokk 0k 10 20 P
43 * sk ok 6 27
44 * *k kk ok k kkk 10 20 P
45 * k% 3 32
46 ,hk kdkk k kkk ok k12 14 P
48 sk ok ok ok kkk kkk 14 5 P
49 * ok * 3 32
50 sk kkk dokk kkk kk 14 5 P
52 sk kk kokk kokk kkk 14 5 P
53 kdok  ckk kokk kokk kkk 14 5 P
54 *kk kk kk ok kkk 11 18 P
55 sk ok kokk kkk k k14 5 P
56 *hk k ok kekk kk ko k12 14 P
57 *% * k% k% 6 27
58 sokok ok *okok 8 26
60 kdok kk tokk kokk kkk 15 1 P
61 ktk kk kk kkk 10 20 P
63 * ok * 3 32
64 * kk * %k kx xkk 9 25
ToI=% = 10

sk [ RRIEFIE ] ek

No. 4 5 8 9 12 &F HIFE
WTF WTF WTF WTF WTF N 432

18 skdok kk kokk kokk kkk 15 1 P

23 sk bk dok kokk kkk 14 2 P

28 *hk ok kkk ok kkk 12 5P
29 0 23
30 0 23
31 * *k k6 15

33 % okkk orekk kokk kkk 13 3 P

34 *k ok ok ok ok * 9 9P
35 kK kK 5 16
36 * kkok kkok 7 13



38 kkk oKk KoKk 8 10P
39 * * ok ** 5 16
40 kkk ok dokk * 8 10P
44 * *kk kkk ] 13
46 * * * % 4 18
48 k ok ok ok ok kkk kkk ] 7P
50 *okk koK * kkk kk |1 7P
52 * % k% 4 18
53 x kkk kk x k 8§ 10 P
54 * % 2 22
55 kkk kkk dkkk kkk x  |3 3P
56 *% * 3 20
60 *k kkk kk  kkk k12 H P
61 Fkk 3 20
=% = 8
sk [ ZERME ] ok
No. 4 5 8 9 12 A& HIE
£ F £ WTF WTF WTF WTF WTF I 452
18 * ok okkk dokk kkk kk 13 2 P
23 ok ook kokk kkk kkk 15 1 P
28 *kok sk kkk kk 11 4 P
33 % kkk ckkok kkk kkk 13 2 P
34 *dok kk kk * 8 bHP
38 Rk K 4 9
40 *orok Sokok 6 6P
48 * % * fkx 6 6P
50 *k *%x%x 5 8
53 * * 2 12
55 * ok ok 3 11
60 * *  kk 4 9
=% = 6 FEAA
4 —#EWH
 Ghis
kekokokkokok b kokokokkokok =HE
(& B L5
No. 4 5 8 912 B
g2 H Waltz
18 5 3 2 5 5 50
23 11 1 1 1 1.0
28 2 6 57 4 6.0
33 6 2 3 6 2 20
34 3 4 6 2 6 3.0
40 4 7 4 4 7 4.0
48 75 73 3 10
g B Tango
18 4 5 2 6 5 4.0
23 311 1 1 10
28 2 4 6 3 3 20
33 6 3 3 5 2 3.0
34 12 5 7 6 50
40 5 6 4 4 7 6.0
48 77 7 2 4 170
# B Fox trot
18 6 3 3 6 5 55
23 211 1 1 10
28 16 5 4 3 20
33 5 2 4 7 2 3.0
34 3 56 3 6 55
40 4 4 2 5 7 4.0
48 77 7 2 4 7.0
No. W T F A #4
18 5.04.055145 6.0
23 1.01.01.0 3.0 1.0
28 6.02.02010.0 3.0
33 2.03.03.0 80 2.0
34 3.05.05.513.5 4.0
40 4.06.04.014.0 5.0
48 7.07.07.021.0 7.0



